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QUESTION 1

If performing a disaster recovery (DR) test, what commands and in what order do they need to be run?

Select and Place:

Tokens Drop Here

enakle

no sarvice enable

replication dr-test enable

configure terminel

service enable

show service

datastore format local

Correct Answer:

Tokens Drop Here

service enable

datastore format local

replication dr-test enable

| configure terminal

show service

| no sarvice enable

enable
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QUESTION 2

When configuring high availability for Granite Edge, which of the following is true?
A. MPIO is enabled on a Steelhead EX appliance to achieve high availability.

B. A pair of Steelhead CX appliances act as active/standby peers.

C. Granite Edge does not support high availability.

D. A pair of Steelhead EX appliances act as active/active peers.

E. A pair of Steelhead EX appliances act as active/standby peers.

Correct Answer: E

QUESTION 3

Which of the following is an iSCSI-compliant SAN technology with snapshot integration that has been qualified with
Granite appliance?

A. EMC VMAX 5876
B. Dell FAS270

C. NetApp FAS270
D. Hitachi PS4000
E. IBM XIV 3000

Correct Answer: C

QUESTION 4

A customer has decided that "application consistency" is a requirement for his Windows application that is currently
residing on a LUN\\'s on his NetApp SAN. This LUN, which contains both the operating system and the application in a
Windows VMDK have been presented out to a branch. Which of the following data protection strategies would NOT
meet the customer\\'s requirement?

A. Host-based backup agents at the branch.

B. Host-based consolidated backups at the branch.

C. Backup from a scheduled LUN snapshot in the data center.

D. Backup from a RHSP LUN snapshot in the data center.

E. Backup of a Granite appliance assisted consolidated LUN snapshot.

Correct Answer: C
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QUESTION 5
Before installing a Whitewater appliance 2030 into production, you need to work out the approximate amount of time
it\'s going to take to "seed" the cloud, to determine whether the current internet link is appropriate. Some stats around

the seeding requirement:

Full backup: 10 TB Bandwidth to the Internet: 50 Mb/s first pass deduplication ratio reported by Whitewater appliance
during POC: 4x

How long will it take (assuming you have the full bandwidth available)?
A. 3.3 minutes

B. 26.6 minutes

C. 27.7 hours

D. 111.1 hours

E. 444.4 hours

Correct Answer: D

QUESTION 6

Which of the following storage array features does Granite appliance allow customers to take advantage of in their
branch offices? (Select 2)

A. Deduplication
B. Extends data center thin provisioning
C. Backup and restore

Correct Answer:. AB

QUESTION 7

Which VIF configurations does the Whitewater appliance support? (Select 3)
A. Round robin

B. 801la.d

C. 802.3ad

D. Transmit/receive load balance

E. Transmit load balance

F. Receive load balance

Correct Answer: CDE
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QUESTION 8

If implementing a virtual Whitewater appliance v210 or higher to support a greater then 2TB volume for cache, which
version of ESXi and storage type should be used?

A. ESXi 4.x and VMDK volumes.

B. ESXi 4.x and spanned VMDK volumes.
C. ESXi5.x and VMDK volumes.

D. ESXi 5.x and RAW volumes.

E. ESXi 5.x and spanned VMDK volumes.

Correct Answer: D

QUESTION 9

What log will contain information about connection failures to the cloud storage provider?
A. Event log

B. System log

C. User log

D. Server log

Correct Answer: B

QUESTION 10

Granite appliance has deep snapshot integration with which vendors? (Select 3)
A. Hitachi Data Systems (HDS)

B. EMC

C. NetApp

D. Dell EqualLogic

E. 3PAR

Correct Answer: BCD

QUESTION 11
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Granite appliance simplifies backup and restore by migrating these functions to:
A. The data center

B. Tape drives

C. The cloud

D. The branch office

Correct Answer: A

QUESTION 12

Which Granite appliance components support high availability?
A. Granite Core

B. Granite Edge

C. Neither Granite Core or Granite Edge

D. Both Granite Core and Granite Edge

Correct Answer: D

QUESTION 13

The delay between taking a snapshot at the edge and flushing the snapshot to the storage array is called what?
A. Snapshot Target

B. Snapshot Lag

C. Snapshot Window

D. Snapshot Integration

Correct Answer: B

QUESTION 14

LUNSs formatted by file systems that are not recognized by the Granite Core applianck. (Select 2)
A. Are unsupported

B. Should be pinned

C. Cannot be prefetched

D. Use 100% of blockstore
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Correct Answer: BC

QUESTION 15

If a user is considering having backup data sent to Amazon Glacier, select which recommendations should be reviewed
to ensure Whitewater appliance is appropriately designed for the environment? (Select 2)

A. Whitewater appliances should be sized larger to reduce the amount of potential access activity from Amazon
Glacier.

B. Whitewater appliances should only deduplicate against local cache storage and not against local and Amazon
Glacier storage.

C. Whitewater appliances should only accept archive data if using Amazon Glacier storage.

Correct Answer: AB
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